[image: image1.jpg]B 2R



5


RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


K36S
Kawasaki ZZR1400/ZX-14R 2012-
	
	

	
	
	
	
	
	
	
	
	
	

	Kit for the Left Side
	
	Kit for the Right Side
	

	ID
	Popis
	Kat.č.
	ks
	
	ID
	Popis
	Kat.č.
	ks
	

	1.1
	Aluminum adapter
	707
	1
	
	1.2
	Aluminum adapter
	708
	1
	

	2
	Dural. sleeve - 90mm
	143
	1
	
	2
	Dural. sleeve - 90mm
	143
	1
	

	3
	Dural. sleeve - 12mm
	80
	1
	
	-
	-
	-
	-
	

	4
	Bolt M10x120
	881
	1
	
	4
	Bolt M10x120
	881
	1
	

	5.1
	Bolt M10x65x1,25
	945
	1
	
	5.2
	Bolt M10x55x1,25
	915
	1
	

	6
	Bolt M8x35
	861
	1
	
	-
	-
	-
	-
	

	7
	Bolt M6x25
	877
	3
	
	7
	Bolt M6x25
	877
	3
	

	8
	Bolt M4x16
	876
	2
	
	8
	Bolt M4x16
	876
	2
	

	9
	Slider adapter
	317
	1
	
	
	Slider adapter
	317
	1
	

	10
	Spring washer M10
	801
	1
	
	10
	Spring washer M10
	801
	1
	


[image: image2.jpg]



[image: image3.jpg]


[image: image4.png]









Instructions – Left Side:
1. Remove plastic cover from the motorcycle 

2. Attach the aluminum adapter to the motorcycle frame. 

3. Insert the dural. Sleeve (ID 3) under the bolt M10 and attach the aluminum adapter to bolt M10 (ID 5.1) and M8 (ID 6). 

4. Mount the plastic cover back on the motorcycle.

5. Attach the dural. Sleeve (ID 2) and slider. Adapter (ID 9) to the aluminum adapter using the bolts M10 (ID 4).

6. Attach the slider to the slider adapter using 3 bolts M6 (ID 7) 

7. Attach the colored cap to the slider using 2 bolts M4 (ID 8)

Instructions – Right Side:
(Almost the same as the left side – see bellow differences)

Differences:
a. Use aluminum adapter (ID 1.2) instead of adapter (ID 1.1) 

b. No dural. sleeve 13mm (ID 3) on the right side.

c. Use bolt (ID 5.2) instead of bolt (ID 5.1).


ID6





ID9





ID9





ID1.2





ID2





ID2





ID4





ID5.1





ID4





ID5.2





ID1.1





ID3





ID8





ID7








1

